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420|518 BUE 50 49 99/ 18.0 | 81.0 RE 47037 H JABA 48 55/  103]20.4 |82.6 THEE
421 K2 et 47 52 99/ 18.0 | 81.0 471 a7k K 55 54 109/ 26.4 |82.6
422\ RH EER 51 48 99| 18.0 | 81.0 472))11ig B — 65 50/ 115/32.4 |82.6
423 | NgE 54 45 99| 18.0 [81.0 473 | A IERF 40 50 90| 7.2 |82.8
424 A1 H FEIR 56 49| 105/ 24.0 |81.0 ATA|THE FIME 46 56| 102/ 19.2 [82.8
425 40)11 FEN 54 51| 105/24.0 |81.0 TRE 475 )1|IRF {B— 52 56 108] 25.2 182.8 TE
426|H F BEIA 49 56| 105/ 24.0 [81.0 A476| 3B TEE 57 51| 108]25.2 [82.8
427\ W 725E 50 55/ 105|24.0 |81.0 477 185K Kkt 57 51 108] 25.2 182.8
428 | R H HEft: 48 57| 105/ 24.0 |81.0 A78 |/ Ak 2] 62 52 114|31.2 |82.8
429 KIN EH] 56 55| 111]/30.0 |81.0 479\ =AY 50 57| 107/ 24.0 [83.0
430 FA H 58 53| 111/30.0 |81.0 TRE 480[)11FF B 51 56 107] 24.0 |83.0 TE
431 B i =] 54 57 111]30.0 [81.0 481 &2 H AR 58 54| 112]28.8 |83.2
432 | PaAT %A 51 60 111/30.0 |81.0 482|145 H FH— 58 54| 112]28.8 [83.2
433 AR 63 54| 117/36.0 [81.0 483 |41k th 56 56| 112]28.8 |83.2
434 AT = 47 51 98| 16.8 [81.2 4841 0 A X K 55 56 111/27.6 |83.4
435|FAA Tz 49 49 98] 16.8 | 81.2 TRE 485 | 4 A 51 60/ 111/27.6 |83.4 HKE
436 | EH mE 55 55/ 110]28.8 [81.2 486 |k BB 57 60| 117/33.6 |83.4
437|fBT FA 54 56 110/28.8 |81.2 487 iR HEEA 46 46 92| 8.4 |83.6
438 Nk SCIE 58 52| 110/ 28.8 [81.2 488 HH & 51 53] 104]20.4 | 83.6
439 | AR 2K 59 51 110]/ 28.8 |81.2 489 | ¥ay Z W] 53 51| 104]20.4 [83.6
440 | THE WG 47 50 97 15.6 | 81.4 TE 490E% H—B 49 55| 104]20.4 |83.6 E
441 K& IEE 47 50 97| 15.6 |81.4 491 %3 FEHI 59 51| 110]/26.4 |83.6
442 e JERN 54 49! 103/ 21.6 |81.4 492 | B B HE 55 55/ 110]26.4 |83.6
443 WP 9i5E 50 53| 103|21.6 |81.4 493 KB kA 51 59 110] 26.4 |83.6
444 |FEJME 1ESE 48 61| 109|27.6 |81.4 494 85K = 53 50 103/ 19.2 [83.8
445 PEP Fi 57 52| 109/ 27.6 |81.4 TRE 495 H 1| #GE 51 52| 103/ 19.2 [83.8 HE
44651 % 52 57| 109]27.6 |81.4 496 | #& ] FnRI 59 56| 115/31.2 [83.8
447 1HH {5 H] 50 52| 102]20.4 |81.6 497\ 51 1% 62 53| 115/ 31.2 |83.8
448 )\FE O AT 50 58 108] 26.4 |81.6 498\ #E 52 50/ 102/ 18.0 [84.0
449 JRH T 52 56| 108]26.4 |81.6 499 | ik B 57 57 114/30.0 |84.0
450 |2 B— 57 51| 108]/26.4 |81.6 TE 500|1EVG &+ 57 57| 114/30.0 | 84.0 HE
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20244F o HNIAR

BRfEEH H 12024404 H27H () ~ 2024404 H29H (H)

SR 1.0 HRNT CHEME36.0 £0136. 0 [FLA—/: 1 3 4 5 6 8
1 2 4 5 7 9
WA B Y T AaT Ay N— 3 1 o2 3 4 7 9
fEH=a—=x  HJb W PN~ c BMER29 N A48 N BEFBTTA
EALIRE HE v T4 AFAH == 7
WEz | B A | b | PE | GROSS| HDCP | NET | swossiir (LEs] B | B KA B | b | V¥E |GROSS| HDCP | NET |ckosshir (L]
BOLIAK AR 58 56/ 114]30.0 |[84.0 551 | R HL.h 65 60 125/ 36.0 |89.0
502 |BFH B+ 66 54| 120[36.0 |84.0 52| EA IR 54 58 112]22.8 | 89.2
503/ 1LIH E/A 48 47 95/10.8 | 84.2 53 |k iR 46 58| 104]14.4 [89.6
504 48 H J\K 58 55| 113]28.8 |84.2 554 /NE #aAY 54 60| 114]24.0 [90.0
505| 5.1 #=i& 63 50/ 113]28.8 [84.2 HE 555 [TF/K Y= 54 66/ 120/30.0 [90.0 RE
506 UJE e 50 55| 105]20.4 |84.6 556 |JEIE B A 55 65 120/ 30.0 |90.0
507 KB IE#E 58 53|  111]26.4 |84.6 557 |3 (B 65 53| 118/ 27.6 |90.4
508 | Nk FHhd 51 59| 110]25.2 |84.8 558 |78)1] HE+ 55 68| 123]/32.4 |90.6
509| FH f&+ 60 56/ 116]31.2 |84.8 559|3E A= 56 71 127/36.0 |91.0
510 2% & 59 50/ 109]24.0 |85.0 RE 560t H {17 57 67 124 32.4 |191.6 THEE
5111'2 T BBE 51 58 109/ 24.0 |85.0 561 [gnA H 61 67| 128/36.0 |92.0
512 f:gm ;ﬁ;}i’% 59 50/ 109]24.0 |85.0 562|E FnEs 61 67 128]36.0 92.0
513|%2H KIi 57 58/ 115/30.0 |85.0 563 |k g 61 68/ 129/36.0 |93.0
514 /N1 ) 56 59 115/ 30.0 |85.0 564|'= M 1§ 63 66/ 129]36.0 |93.0
515 /%4 —hk 61 60| 121]/36.0 |85.0 TRE 565 | 28 H fE VR 58 68| 126/32.4 |93.6 RE
516 |#: EHE 61 60 121]36.0 | 85.0 566 NI #BJA 54 74)  128/33.6 |94.4
51775 H R 59 49| 108]22.8 |85.2 567 HmE —h 61 67 128/33.6 | 94.4
518 | #A[ Y EE 53 61 114] 28.8 |85.2 568 | i i 67 59 126]31.2 |194.8
519|111 Wz 60 54| 114]28.8 |85.2 569 K H A5— 59 70/  129]32.4 | 96.6
520 7R A #E 56 64 120/ 34.8 |85.2 RE 570 AR ZE3F 68 66/ 134/36.0 |98.0 HKE
521 | K Fi#h 58 48 106] 20. 4 | 85.6 571K H % 70 65 135/ 36.0 |99.0
522 |y T 58 54| 112]26.4 |85.6 572|HH 5L%A 71 64| 135/36.0 |99.0
523 |FEkm I+ 53 52| 105/ 19.2 |85.8 573128)11 1Z U & 71 64| 135/36.0 |[99.0
524 |JRMH HEE 60 57| 117/ 31.2 |85.8 574 )11FF &K 66 65 131]31.2 199.8
525 K0 JA— 56 61| 117/31.2 |85.8 TRE 575 i L 61 73] 134]32.4 [101.6 RKE
526 | A% R 55 61 116/ 30.0 [86.0 576 [#F &+ 65 81| 146]36.0 |110.0 BB
527 | P} {%rﬁ 53 63| 116/30.0 |86.0 577 % 6 75 77 152]36.0 [116.0
528 | J1Ik; #2— 59 63 122/ 36.0 |86.0
529 N H IEH] 56 53| 109]22.8 |86.2
530 RKALR HE 56 53|  109]22.8 |86.2 RE
531 |iEt% INLEEE 61 54| 115|28.8 |86.2
532 |k 4k 57 58| 115]28.8 [86.2
533 oA BEE 66 54| 120/ 33.6 |86.4
534 |58 B2 59 61 120] 33.6 | 86. 4
535 | 75 e & 62 57| 119]32.4 | 86.6 HE
536 |1t ) 1|1 & 61 58| 119]32.4 [86.6
537\ %A F5HE 48 58| 106/ 19.2 |86.8
538 Hkf B 52 60| 112]25.2 |86.8
539| =& EHLBEE 64 48| 112]25.2 |86.8
540| LA FE— 64 54 118]31.2 |86.8 RE
54177 H e 55 56 111]24.0 |87.0
542 |WE4, BERE 50 67 117]/30.0 |87.0
543 |t 5N 61 61 122]34.8 |87.2
544| =[] #&dL 60 49| 109/ 21.6 [87.4
545 | # i 58 55/ 113]25.2 |87.8 e
546 |85 XA F 55 64 119/ 31.2 |87.8
547 1)1l 72 60 59| 119]31.2 |87.8
548 | AR Fnike 59 60| 119]31.2 [87.8
549 )11 2L 65 45 110/ 21.6 |88.4
550 | AT fil — 54 60| 114]25.2 |88.8 TE
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